Biology 212: Cell Biology                                                                                                                      Practice final exam questions


Below are some practice questions designed to help you prepare for the final exam.  While these questions are supposed to be approximately equal in difficulty to the actual exam questions, I cannot make any guarantees.  How you do on these practice questions will give you some indication -- but not a definitive one -- of how your studying is going.  Also note that, although the real quiz will cover old material, I didn't include sample questions on old material because you already have plenty of those from previous quizzes.  Finally, short-answer questions will be included on the final but aren't shown here because the review sheets already provide you with ample examples of those.

MULTIPLE  CHOICE

1.  One difference between receptor-mediated apoptosis and mitochondria-mediated apoptosis is that


a. receptor-mediated apoptosis makes use of procaspase-9


b. FADD and TRADD serve as protein kinases in receptor-mediated apoptosis


c. mitochondria-mediated apoptosis makes use of executioner caspases

d. mitochondria-mediated apoptosis involves the movement of cytochrome c into the cytoplasm


e. TNF stimulates mitochondria-mediated apoptosis

(Note about this question: some of you may see the mention of procaspase-9 and think, "Hey, you said we didn't have to worry about distinguishing procaspase-8 and procaspase-9!"  That is correct; however, you should be able to answer this question without having to remember that particular piece of trivia.  Random terms sometimes show up on multiple-choice questions due to the need to create five different choices, but you should always have enough information to figure out the correct answer, either because one choice is clearly right or because the other four choices are clearly wrong.)

2.  Monitoring the incorporation of radioactive thymidine is a good way to assess the rate at which cells are


a. phosphorylating their proteins


b. replicating their DNA


c. expressing CDK inhibitor proteins


d. mutating


e. producing antibodies

3.  Which of the following molecules, when present in its normal, functional form, does not help "brake" or slow down the cell cycle?


a. p53


b. p21


c. ATM


d. cyclin B1

4.  Viagra promotes blood flow to the you-know-what by


a. stimulating the production of nitric oxide


b. stimulating the production of cGMP


c. inhibiting the production of nitric oxide


d. inhibiting the production of cGMP


e. inhibiting the destruction of cGMP

5.  Which of the following traits is not common to many cancer cells?


a. uncontrolled growth and division


b. abnormal numbers of chromosomes


c. increased mobility


d. absence of a cytoskeleton


e. decreased adhesion to other cells

6.  "Ras" is


a. a G protein


b. a tyrosine kinase


c. a phosphatase


d. a transcription factor


e. an unflattering nickname

7.  If a proto-oncogene mutated into an oncogene in an otherwise normal cell, the immediate result would likely be


a. apoptosis


b. arrest of the cell cycle


c. not much; perhaps a slight quickening of the cell cycle


d. the cell would become malignant


e. rapid mutations of other genes

8.  The particular antigen to which an antibody will bind is determined by the


a. composition of sugar groups attached to the antibody 

a. amino acid sequence of the antibody's heavy chains


b. amino acid sequence of the antibody's light chains


c. amino acid sequence of the antibody's heavy and light chains


d. amino acid sequence of the antibody's heavy, light, and intermediate chains

9. According to our class discussion of the Knowles & Moncada article "Nitric oxide as a signal in blood vessels," firing of neurons in the nervous system can directly or indirectly lead to the activation of


a. ceNOS


b. nNOS


c. ceNOS and nNOS


d. nNOS and iNOS


e. ceNOS, nNOS, and iNOS

FALSE  . . .  BUT  WHY?

Each of the statements below is false.  Rewrite each one to make it true.

10.  Hunter & Sefton's 1980 article "Transforming gene product of Rous sarcoma virus phosphorylates tyrosine" (presented by Anne, Ashley, Jenni, and Kristen) proved that the protein product of the src gene is a tyrosin kinase because only tyrosine kinases can use radioactively labeled ATP as a source of phosphate.

11.  Mutations in the gene for p53 generally enhance cells' ability to commit phagocytosis in response to chemotherapeutic drugs.

12.  Boehm et al.'s 1997 article "Antiangiogenic therapy of experimental cancer does not induce acquired drug resistance" (presented by Jamilia, Natasha, Nicole, and Tricia) showed that tumors treated repeatedly with cyclophosphamide did not develop drug resistance during multiple cycles of treatment and withdrawal of the drug.
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